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��وع �� ا����� أ��ص ��
 ��اءة  *:ه�م �     . ا��ص ��
 ا2!1#ل آ�$� ا�0�/*.-,+ *��دل ا)دوات   *  آ�$#    ا�"!��ر��� ا

    ���	
   :ا�ولا�
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  :ا�
	��� ا����� 
�� وذ�0C D.D;!� Eع ا�Bّ�:-أ�!�  . أآ-� ا�?Dول ا

  Cـ0ع ا�ـBـّ�ـ:  ا�ـBـّ�ـ:

  ...................................2ـّ�ـ: 1:2
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� ا�P!2�اب -1          $�� �-6� K�-Q0ن داS* :  
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	��� ا����� 
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  45° زاو.� ا�P!2�اب * 

� ا�P!2�اب * $�� 0.5= K  

 *0�  a�ABCDEFGH ا)$�$� ا
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A  AB =50    :$ AH =80    :$BC =25  :$   

DE =30     :$ CD =25    :$ HI =40:$   


